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NE sz BRE S ouT IN GROSS | HDCP NET
i BH XHE 43 41 84 19.0/ 65.0
AITAD:—1=: B 7 38 43 81 15.0/ 66.0
M| —1H BT 41 41 82 15.0/ 67.0
A6 KHE 42 43 85 18.0/ 67.0
5 dtEF FE 41 46 87 18.0/ 69.0
6LL Ak W 50 50 100 30.0f 70.0
Mz £tA BX 46 47 93| 23.00 70.0
8| lA Ak 43 46 89 19.0/ 70.0
Off thmk = 41 44 85 15.0/ 70.0

106z ILA &7 42 46 88 18.0/ 70.0
Nz —K X% 46 50 96| 25.00 71.0
1267 |1BE BE 42 47 89 18.00 71.0
136z | FHHE 46 52 98| 27.00 T71.0
1461 1B R 84 45 53 98| 27.00 T71.0
1561 A FHE 46 45 91 19.00 72.0
166182 1&— 46 49 95| 23.00 72.0
174 1Lt IETE 42 46 88 16.0/ 72.0
18It A =R 45 44 89 16.0/ 73.0
1961| KEE 47K 45 44 89 16.0/ 73.0
201 | TRk &R 48 48 96 23.00 73.0
211 /R & 44 46 90 17.0/ 73.0
22061| KH IER 46 52 98| 25.00 73.0
261 BE #HIE 41 48 89 16.0/ 73.0
246 )IIKE B 46 44 90 16.0/ 74.0
2501 | HER XER 45 47 92 18.0/ 74.0
264 /MR EF 52 47 99| 24.00 75.0
2111 %R %A 45 48 93 18.0/ 75.0
28| mR X 44 48 92 17.0/ 75.0
296z|[RA —#& 45 49 94 19.00 75.0
04| % Fif 47 46 93 17.0/ 76.0
K] KA ol N 45 47 92 16.0/ 76.0
32061 | FH f— 44 48 92 16.0/ 76.0
336L | KH Fif 46 95 101 25.00 76.0
M |1EH BiF 50 46 96 18.00 78.0
3BhL | HEH —FE 49 46 95 17.0/ 78.0
6L AT XX 47 51 98| 20.00 78.0
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JIE iz B E A ouT IN GROSS | HDCP NET
3L | HA HE=E 53 52 105 25.0 80.0
I FIl Hz 48 53 101 21.0 80.0
94 Kk L2 49 56 105 25.0 80.0
06 58 =B 51 47 98 17.0 81.0
ML B HhE 52 49 101 20.0 81.0
424 MR B8 49 53 102 21.0 81.0
4301 | RE FEK 48 50 98 16.0 82.0
AT |ZER R 55 61 116 34.0 82.0
454 | EHE R 49 61 110 28.0 82.0
461 18R BF] 50 52 102 19.0 83.0
4761 | F — 53 61 114 31.0 83.0
L | EF B= 51 54 105 21.0 84.0
4961 B Ik 56 54 110 25.0 85.0
50fiL |mUE 1ERA 64 57 121 31.0 90.0
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